
 Correlation 

 

 

 Correlation Coefficient 

 

    

Strong negative 

correlation 

points lie close to a line 
with a negative slope 

r is close to -1 

Strong positive 

correlation 

points lie close to a line 
with a positive slope 

r is close to 1 

Weak negative 

correlation 

points loosely follow a lie 
with a negative slope 

r is between 0 & -1 

Weak positive 

correlation 

points loosely follow a lie 
with a positive slope 

r is between 0 & 1 

 Describe the correlation and use the scatter plot to estimate the value of r. Indicate whether r is 
closer to -1, - 0.5, 0, 0.5, or 1. 

   



 9.3 & 9.4 ~ Creating & Using Residual Plots 

 

 

 

 

Residuals help to 
determine if a curve 

(shape) is appropriate for 
the data. 

Linear vs. Non-Linear 

When a pattern 
is observed in a 
residual plot, a 

linear regression 
model is 

probably not 
appropriate for 

your data. 

The residual plot: 

 

The plots do not follow a 
pattern. A linear model is 

appropriate. 
 



 Creating & Using a Residual Plot 

 Is there any relationship between the price of the ticket 
and the distance from the soccer field?  

Assume I am going to get a seat right at the half-way 
line (centered) and that row 1 is close to the field and 
row 50 is further away up in the stands. 

 Make a scatterplot of the data:  
 

Rows back, 

x 
Price, y 

2 $205 
8 $175 
10 $170 
15 $105 
20 $185 
25 $100 
30 $65 
32 $78 
40 $50 
48 $20 

 
 
 
 

 What type of relationship is there between two variables? Explain. 
 
  
 
 

 The correlation is: r = -0.919. Describe what -0.919 correlation means in this problem. 
 
 
 
  

 The least squares regression equation is y = -4x +207. In your opinion, do you think that 
the line is a good fit or not? Justify your answer. 

 
 
 
 

 Is Row 15 above or below the regression line, how about row 20? 
 
 

 How many points are above the line of fit and how many are below? 
 



 Use residuals to determine if the least squares regression equation, y = -4x +207, is a 
good fit for the data. (Make a scatterplot of the residuals.) 

 

x y 
y-value 

from model 
Residual 

2 205   

8 175   

10 170   

15 105   

20 185   

25 100   

30 65   

32 78   

40 50   

48 20   

 

 

 What does the residual plot tell us in this situation? 
 
 
 

 Does this confirm your results about least squares regression equation, y = -4x +207? Is 
it a good fit? Was your prediction correct? Explain. 
 
 
 

 Is there an association between the price of a ticket for an Orlando City game and the 
number of rows from the field? 

 


